07663 IRE HHIRY , AR

Rost] P i
frei

STAINLESS STEEL *j'%l’ :
TEHM,
I
a1,
BR:
BERATEEHBXIARNAZHR, BFURKRENEZEAL, BHIESEREN
B4
BEFATZHME , SREEEAEREH. MG T R2M8iE , 8
SEMeHIRER 4Bt
NE:
NESRKBTRIRY , HlaRFIRG6H, BAFRLG6g , HERY
+0.25 mm,

FAEARSHS NIRERERA S,

=N

- REFMBEE,

- BYSHEE  BRBAETHTZ LIRS SHNTBE.
-FRATHREIERE  FEEHEIE,

BEETR :
1) LEZHER
2) NIBL E 8

1
T~
~ >~
~
‘ ]
2/
D1
—_—
D2 l
07663-105 M5 M8 4 8 6,9 8,3 M8 9,5 5,5 4 07660-805
07663-106 M6 M10x1,25 5 10 8,8 10,3 M10x1,25 1,5 7.5 4.8 07660-806

© norelem www.norelem.com



07663 1BE HHIES | BHER

REREL SR KE| #4710 ENAo Y B o | HARE
+0.25 REURE
07663-108 M12x1,25 10,8 12,3 M12x1,25 13,5 9,5 4,8 07660-808
07663-110 M10 M14x1,5 7 | 14 12,8 14,3 M14x1,5 15,5 11,5 4,8 07660-810
07663-112 M12 M16x1,5 8 16 14,8 16,3 M16x1,5 17,5 13,5 4.8 07660-812

D1 D2 L T ZH ZET, ZEA | HH E RRIBTHES

© norelem www.norelem.com



